20234 FE34HE 2023468110 (H) 1085155 ~ 1285309 (2BR915%) FABEZ S YA - RERE
TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
it E¥F—X 0 0 0 1 0 0 0 0 0 1 4 1
gl Z3—LZX 2 1 0 1 7 1 1 0 x 13 15 0
[ MvPGETE) | AR EEN
[ #=01 | - | | | | | | | |
[ mve@F) | #ER= EEI
[ BAgFE | @i egory | +—7 | AMk® 1S [ A—nkF | ABBEA  4H |
®F A = 1-1 XE B 5-7 HE RE 7-6 Elopa] 8-9
HERF EH aRF 1-1 E&RF 5-6 aARF 7-14
#B¥: Ra—LX
1B 2,5 1 2 3 4 5 6 7 8 9 10 11 12 13 14 EEEREEE TR
1 XA &x | #2 (Y h2 (2) =Jn 3 2 2 1 374
2 maAARME [ H2 (1) BEFRE PYEk —R 3.1 1 1 429
3 AR k# |==nA ER PuER —% 3 2 1 545
4 ABR | Ex (1) ®IA mE (1) mR (1) 4 3 3 294
5 KB EA |==A —=n mER (1) =ik 3 1 11 368
6 thly 82K AR RS R (1) 2 1 1 1 .207
7 AR B —=n m2 (1) ==o ®In 41 1 269
8 mE AN PuER —=n 7R —=n 3 1 278
9 e (= —R —R = izt 3 1 306
10 PFIFE KA [z —® —=n = 301 1 3711
11 ke =H [z =% —=o (1) 2 1 1 1 200
12 LERBNE mEk (1) E#R FEEk 11 1 1 .083
13 #HERH =ik = B 3 2 205
14 it P NET] BEFR H2 (2 ER 3] 2 2 407
TOTAL[ 40 | 15 13 3]10 280
B E¥F—X
I RFE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BHE T R AR M & HEER
1 HiTE  |&Tn0 =iR P A B 1= (%)
2 HiTH uzfsg =ik = =% 4 16 2/ 1 5 2 1 132
3 EiTE =ik —an Bk am XEF (H)
4 1% |®&Tn E (1) PaER R 2 9 1 2 2 7.45
5 aiTE BEFRE —R —R =0 HE RE
6 ] —dn = R 1 3 [ ] 5.14
7 aiE ER aR =3n B &E (s)
8 HiTH =R =R —n 2 11 | 1] 0.00
9 aiE Bk =R PN
10 H% = H7R =i ] [ ]
TOTAL — —
9 3 4 1/ 8 4 1 500




